

Using $1 + r + \dots + r^m = \frac{1-r^{m+1}}{1-r}$ with $r = e^{1/N}$ and $m = N - 1$, so that $r^{m+1} = (e^{1/N})^N = e$,

$$\frac{1}{N} \frac{1-e}{1-e^{1/N}} \leq \text{Area}\{ (x, y) \mid 0 \leq x \leq 1, 0 \leq y \leq e^x \} \leq \frac{1}{N} e^{1/N} \frac{1-e}{1-e^{1/N}}$$

Thus the exact area must be at least as large as $\frac{1}{N} \frac{1-e}{1-e^{1/N}}$ for every single integer $N \geq 1$. So the exact area must also be at least as large as

$$\lim_{N \rightarrow \infty} \frac{1}{N} \frac{1-e}{1-e^{1/N}} = (1-e) \lim_{x=\frac{1}{N} \rightarrow 0} \frac{x}{1-e^x} = (1-e) \lim_{x \rightarrow 0} \frac{1}{-e^x} = e - 1$$

by L'Hôpital's rule. Similarly, the exact area must be smaller than (or equal to) $\frac{1}{N} e^{\frac{1}{N}} \frac{1-e}{1-e^{1/N}}$ for every single natural number N . So the exact area must also be smaller than or equal to

$$\lim_{N \rightarrow \infty} \frac{1}{N} e^{\frac{1}{N}} \frac{1-e}{1-e^{1/N}} = (1-e) \lim_{x \rightarrow 0} e^x \frac{x}{1-e^x} = (1-e) \lim_{x \rightarrow 0} e^x \lim_{x \rightarrow 0} \frac{x}{1-e^x} = e - 1$$

We have now shown that

$$e - 1 \leq \text{Area}\{ (x, y) \mid 0 \leq y \leq e^x, 0 \leq x \leq 1 \} \leq e - 1$$

so that the area must be exactly $e - 1$.